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Similar to Regel —Baa7 RIT

OVERVIEW

The X713 explains that J is 21 even when it is not X17p ®°22n (despite the fact that
the 7710 uses the term 7y by 1w, which indicates 817p X°921), for we derive it from
a wpn of 237 (which is alluded to by the word rowY). Just as 731 is 211 (even) by X?
X171 %201 (for the word n?w1 does not indicate X1 ¥°22n), similarly 1w is also 27,
even when it is not X17p X°?51. Our M»dOIN questions the direction of this wp»r1.

mooIN asks:

= NIONX N1 99NN ON)
And if you will say; let us assume the opposite; that 37 is similar to 7v; just as by 1w
the 27 is only when it is X19p X991 (for by 1 it states 7wa),' similarly by 931 the 211 is only
when it is X317 X°92n. Let us use the (same) wp°7 (only) in the reverse, where 937 is derived from
1W; and 237 12 will be 2711 only by R17p X*721, and M5 by X17p X951 R?.

mooIN anticipates a possible refutation of his question:
- NIIINT 1PV PNT NNT

For the rule that whenever a wp>1 can be used for either a strict interpretation of
the law, or a lenient interpretation of the law, we compare in the strict manner,
and therefore here too if we would derive Jw from 93, there will be a X, for 7w (and 537) will
be 21 even when it is not X11p X°2on; however if we derive 731 from @ (as MooIN proposes in
this question), the 2111 by both 2371 7w will be only by X171 X°%21, and not by X3P X201 &9, which
is a X71p. Therefore we should seemingly not be able to make the wp*r1 from @ to 937 (which is a
X71?), but rather we are required to make the wpn from 931 to @ (X9m12). This would answer
mooIN question —

mooIn rejects this solution:
- XD NDDN HAN NYIOINA 2959 29N

When do we apply this rule that jwpn X2, only by laws dealing with
prohibitions, but not by monetary laws. Therefore we can be X207 wpn.

nv0IN answers:
$NIIMINA NIYW NDY NIIDINA NaW RD N9IN2 N> NTHT DN 12929 909IN)

! See previous X7 7"7 Moo footnote # 2.

2 By (X0 T) 00X there is a rule that X1mn% Xp*00; therefore if there is question which way we should utilize the
w1, we utilize it X2, However, in monetary issues the rule is that the Y210 must prove his case convincingly —
PRI 1YY 100 ROXIT; otherwise there is no P>wn avn.
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And the n"9 answered that the concept of j1wpn XN is a rule of interpreting
the 7770, regardless if it is concerning 199°% or 12».’

SUMMARY
The rule of 1wpn XRMn> applies to every wpr, regardless if it is concerning MoR
or 71N.

THINKING IT OVER

We derive 1w from 731 (as opposed to 731 from ) because it is a X2, and X0
1wpn. Seemingly this is not understood; for by monetary issues how can we
consider anything a X1 or a X?p. A X0 for the defendant is a X7p for the
claimant and vice versa, Even if are X712 11°wpn, the question remains; a XM
for which party?!*

* The idea of 11°wpn XMAY is not because of XM 1P°00 (which does not apply to minnan °1°7), but rather it is an
inherent quality in the rules of wp>17 (which applies everywhere). See “Thinking it over’.
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See 1"nR.
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